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General Instructions :

1. The questlon paper comprises of two Sections, A and B. You are to attempt both the

sections. -

. All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

Question numbers I to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Quesdon numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. :

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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WIT-37 / SECTION-A

quaﬁﬁmaﬁﬁ?fﬁmﬁﬁ yftr fafau )

State the role of leucoplasts in plant cells. M

TIfd 1 T Saren <ifee fred @R srmeE @

Give an example of a motion in which acceleration is non - uniform.

e Tl | Yd a5 U1 el 1 el YA fape d §2

What is the total momentum of the bullet and the gun before the gun is fired ?

Y Aol 1 Mierl % o7 @ TRy T F e B IR s w60 39 fafy @ ool @
e W@ TF AMifhd {9 S5 | &

How will you separate a mixture of naphthalene balls' pnw-'der and common salt ? Draw a
labelled diagram to show that process.

Frefafad * ™ fafe

(@) % 0% gfa & Fo Ffiea &6 § v s )

(b) ¥ Sk Wel E @i i gl gt W A faemm war #

(€) ¥ e uivdl & SMER H 71 Tl % vd F 2H1 R Iufeea 2R #
(d) S % A S @ Pefn w0 T Sfeeet @t g
Name the following -

(@)  Tissue that occurs in specific regions of growth

(b)  Tissue present at the growing tips of stems and roots.

(c) - Tissue at the base of the leaves or internodes on twigs.
(d)  Basic packing tissue in the form of a few layers of cells.

sTifted § ferelt T W geslt o Jres o S 1 kg THHA F 5 m/s® @ S il ¥ S
T W 3 kg FoAHM A TR 707 31 1 2 3191 SWR RV Afed g |

L8}

The earth’s gravitational force causes an acceleration of 5 m/s” in a 1 kg mass somewhere in

space. How much will the acceleration in a 3 kg mass be at the same place ? Give your answer
with reason.

frdt faemm A 440 S A 1105 TE R faemw @ wigw @ ufiwew
weaur/ faerad & zemii ufaeid SR | 78 ot Sard R faerm dqa § sge siga |

A solution contains 110g of salt in 440g of water. Calculate concentration of solution in terms
of mass by mass perceniage. Also state whether this solution is saturated or unsaturated.

o @1 ARt s Freafated #) e 9ed gu sn § safea Hifaw) - ar, fa @
g1, Y=, 9, %5, = a9 e

Define density. Arrange the following in prder of increasing density.

Air, exhaust frém chimneys, Hm]\ey, water, cottbn, chalk, irof. :

T i A fafee ) i gR @ e < A & fore sedi e s aren. wee fafae amEe
argrscta 5@ &1 T T §2 '

State iie SI unit of pressure. Mention the unit which we use to measure pressure exerted by a
gas. What do you understand by normal atmospheric pressure?

STt st BRI T WA & SR W qwiiha Hive | el fafay |
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Classify the organisms on the basis of the number of cells. Give two examples each.
11 2 for e Sl § vlF F Q-2 e fafew 3
(a) o8 e S TAR IRR ¥ 991 1 HERo S T
(b) o e Wi TR IR A WS WIH Shaal & 91 Hooy e §1
(€ T Faw S e & WOR & S ) Frafa w8

Give two features of each of the following tissues : :

(a)  Tissue thatstores fat in our body. &
(b)  Tissue that receives and transmits impulse in our body. §'°

(c) Tissue that controls contraction and relaxation of heart.

12 A TN foh 19 T 9 e o1 Hroher =1ed & | 3119 5t o W T e off sty fagewa 9 Y 3
T 1 WA frerar 87 st o i 23 & forw e feafirl o) srevasar i 22

Suppose we want to push a heavy box. If you're applying force and still the box is not
moving, what does this imply? What are the conditions required to move the box?.

13 FHROT ST 3
(i) Wﬁwww%zﬁ%wﬁ?ﬁw%mﬁmwaﬁm&nw@mmﬁ
tfees T W R

(i)  EoHHM & A R fer e & yafE v wRafic S war d

(i) S € W gt @ WM € g 1 A NIl Al § SEfF ‘60 H A s § weA e
wAEl.

Give reasons :

(i) A piece of paper takes much longer to fall than a stone through the same distance, when both
are dropped simultaneously from roof.

(ii) The mass is constant everywheie whereas the weight keeps changing.

(iii) The value of ‘g’ keeps changing as we move away from the earth whereas value of ‘G’
remains constant all over the universe.

14 TF Tl 3@ A TR &R TR % S-99E W A 9 g Rafi-an wer @ g 3
g ifsg

Using velocity-time graph of uniformly accelerated motion along a straight line, derive the equation
for position-velocity relation.

15 o {6t AIETaTs e 9 600N T U< aer wrma 4 Ay 7% F¥T ¥ RowEen duw 10 3
A @ E TR T ) g orem . 100 @ ars difen Secarstie amwe-

2l
Plot a velocity-time graph for a bike that starts from rest with a uniform acceleration
over a period of 10 seconds when a constant force of 600N is applied to it. Mass of the
bike 1s 100kg.

16 gl % oc i R aRu ST o qe g 9Ra R e @1 wR e g W el 3
A C? ST SR 1 gfe v Th% / FifT)
Define “acceleration due to gravity of earth’. Does the acceleration produced in a freely falling body
depend on the mass of the body ? Justify your answer mathematically.

17 gires der | st a1 RS9 wi-am A 4 T 9w ot ver s W@ o i § aw g 3
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(i) TS % SHEER § e Siad Yed! & ar # Y €91 FE GHd & 7

Dunichand was good in studies and his parents wanted him to continue further. When he
came to the village during vacation he persuaded villagers to adopt modern methods of
irrigation, genetically modified seeds. And the villagers saw tremendous increase in the
yield.

(i) Why the modern methods of irrigation are better than the iraditional ones ? \'@
(ii)  What is meant by genetically modified seeds ?

(iii) What values of dunichand are exhibited by his behaviour? l@}?«
3id: Yol S HIS a9 Yo qd STl esitat e @l T weR 3 vge €2 : 3

In what ways internal parasites like worms and flukes and external parasites cause harm to
the cattles.

agsT fof fiasor o S 82 ﬁm%ﬁaﬁ%wﬁm|mnwaﬁgﬁrﬁﬁﬁaﬂaﬁml

mmmgﬁ#&%ﬁmwrﬂﬂ?ﬁﬁwﬁ

Explain what is a mixture? Name the two types of mixtures. List two points of difference
between them. How would you confirm that a colourless liquid given to you is pure water?

() fordlt forarrena g waftia Fifere & 72md % Foil & oire fioa v g 82 5
(b) e it i wifin g@ § daEk ae e R
(a) [llustrate an activity to demonstrate that particles of matter have spaces between them.

(b)  Explain why a diver is able o cut through water in a swimming pool.
(a) e UG hIRTeRT T T o Wiea 30H FORICIRE ae wieaT fereed! ifshd shifere | 5

(b) Frafafed % g FrEl H TG HIE
(i)  AESRIEA
(i) TR

()  9RY shiferent 74T Sivg FieTR § & S fafaa

(a) Draw a neat diagram of a typical plant cell and label chloroplast and plasma
membrane on it.

" (b)  State ihe main iunction of each of the following :

(i) Mitochondria
(i)  Chloroplast.
(c) Write two differences between a plant cell and an animal cell.
3T T F 391 GUTT Th TEFS F GHA W 4SS T & S IHF WA 400 m TR 100m FoHA 5
& ¥ SE Heqd FRar o SuE T v v e &) 9% o W dedt §1 39 e qwn o d 2
e =1 w44 @, dREfaa S
() i S a® R Y R W2
(b) % fora Y@ ==l ?
()  IueH faema fohen an?
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(d) 3T 3iwd A ms ™1 foFan 1?2

(e)  SW! 3Ha TN ms™1H T A ?

Annu has to walk to a medical shop 400 im away from her house to buy some medicine. After
walking 100 m, she realizes that she does not have enough money, and goes back home. If it
took her two minutes to leave and come back, calculate the following :

(a) How long was she out of the house ?

(b)  How far did she walk ?

() What was her displacement ?

(d)  What was her average velocity inms™1?

()  What was her average speed in ms~1?

23 z=gATT 100 B3, a9T it 37 awgl A 75 A Tur B40 wwer, % .41.55 00 wer quv. S
99 % I 52T % A7 & S FT @l 5| HRO gied 1forg —
a) T srEea AfER g 7
b) T g4 arfeE g ?
) mﬁ%ﬁaﬂﬁaﬁwuﬁmwwmm?
d) 10 e § w7 ol T g w2
e) e DA & e o A i o sery w2
Two object A and B, having masses 100kg ancl 75kg, moving with velocities 40km /hr

and 60km /hr respectively. Answer the
following :
a) . Which will have greater inertia ? -

b) Which will have greater momentum ?
c) Which will stop first if equal negative acceleration is applied on both ?
d)  Which will travel greater distance in 10 minutes ?
e) Which will impart greater force i collided with a wall ?
24 dHago &I gitame fofew) @y o ga i yonfedl @ Seora wifae) feEd o yomert S
&1 forear | fafaw |
Define hybridisation. Mention three basic types of cross - breeding practices. Describe any
one of them.
' 4T-9/ SECTION - B
25 - 9RBE H fatE W= 99t & T 2 mL Y& 91 WEEetl ¥ ey T 3R vl waeet 31
TR I3 WG TSN T i Sl Se A Toman 6 @@ o # faeem @ 1 et @
ELCa a7ef %:
@) 9% TW S e gitafda & w9 arafafaa #)
(b) T e wiafd T g o srafufim @
(c) = e = el ftafia & wan 9w srafafa T #)
(d)  FE i T StHiEE T e
Four students were given 2 mL each of different food samples in test tubes. They added 4

drops of conc. hydrochloric acid in eah test tube. They observed that in one sample the
colour of the solution became pink. This means :
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(@)  The sample which turned pink is adulterated
(b)  The samples which didn't turn pink are adulterated
() The sample which turned pink is not adulterated.
(d)  None of the samples is adulterated.
26 T ¥ W A A faora e/t 9R W aE e s 1 F afafia w96 e 359 a7 freed e 1

(@) W formm & T (b) vk foremm & R
(©  w=rd foemm & B (d) = foremm = @)

On adding iodine solution in cane sugar juice, it did not turn to blue black colour. It will be
inferred that, in cane sugar juice :

(@) proteins are absent (b) sugar is absent
()  starchisabsent (d) fats are absent
27 Four safety symbols are given below : 1

| o G 2 \ . s
The most appr;::ﬁriate symbol for carbon Eii‘;ulpl'lide is:
(@) 1 (b) I . HLy ) 1V
28 T WGl W w0 G Hewt YRel I fgor € wew wRe # oo ¥ faw 9 W waifus 1
Syt foemre &2
(@) TeHEH (®) ¥R
(€©) w6 SRETERS (@ =

A test tube contains a mixture of iron filings and sulphur powder. To dissolve sulphur
powder, whicii is most commonly used solvent ?

(@) alcohol (b)  ether
(c) Carbon disulphide (d)  water
29 W HWR e % freee H T fwan s @ o e i e A wihe wRafda A T i qw d 1
()  STElRToT & FHR (b) feemSfem F wrw
(c)  EESIEYE & ®RU (@) Frsielis & R0
When copper sulphate crystals are heated the colour is changed from blue to white. This is :
(@) Due to hydration (b) Due to dehydrogenation
(c) Due to hydrogenation (d)  Due to dehydration
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(i)  ¥g 5§ @Y
(i) =M R fowda F 9 wifeg
(iv)  HeredtT =7 {5 %1 39 2 <
(v) e % oW HR @ weR fwm Fan
=Vl 61 Wel 9 @ : :
(@  (V)-(iv)-(ii)-(i)-() (b)  (i)-(0)-(iv)-(iii)-(v)
©  Gv)-Gi)-)-(v)-Gi) () (i)-v)-(i)-(v)
'I:he steps included for preparing a temporary mount of human cheek celi are :
(i) With the help of a toothpick, scrape the inner side of cheek to collect squamous
epithelial cells.
(ii) Rinse the mouth with water
(iify ~ Puta drop of glycerine on the slide
(iv)  Add a few drops of stain methylene blue
(v) Place a coverslip gently over the slide
Correct sequence of steps is -
(@) (v)-(iv)-(ii)i)-() (b)  (D)--iv)-(iii)(v)
©  (v)-Gi)-G)-(v)-(i) ()  (i)-v)-Gi-)(v)
31 oEl I AT @El 4 SUR W URY Sl Hi TREH S % o e ) gaet s faf,
arefoe, S @r 8 ot aa €+ o & e R, i god g @, Wy e e,
4% % ¢
(a) FwEm (b)  Hii<hEHI
()  WRitwEE (d)  SEEH
Students were asked to identify the plant tissues on the basis of their characteristic features
thin walled, isodiametric, may or may not have intercellular spaces, contain cytoplasm
vacuole and nucleus. This tissue is:
(a)  Parenchyma (b)  Collenchyma
()  Sclerenchyma (d) Xylem
32 T femn T B9 W e S fafa ¥ gy T R o e 82
@) Wfean wiTse (b)  SFIfFRE TGS
(€ =T (d) e
Which of the following substance cannot be separated by the method of sublimation :
(a) * sodium chloride (b)  ammonium chloride
(c) camphor . _ @ iodine ata et .
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(a) 100 gwt () lgwt

(© 10gwt (@ 01gwt

What would be the least count of the spring balance used for measuring the force, of the range
0—1 kgwt and has total 100 divisions on its scale?

(@  100gwt (b)) 1gwt

() 10gwt (d) 01gwt

. frht BT S oa A A0S F Ghdl et welvifa faeifed w1 ¥ fAT e T 37 A duifaa

el # get IR 9 98 e F FFA@ T

A student was asked to mix the white of an egg with water and stir well. List two observations he is
likely to note. -

ot 1 e FEiia w0 999 98 da fran wn fe gty oF F oA @ w9 w9 8 IR W
T ol ST R §, T T o e ae oifier B ougis d wE gfe AW R w
gunfaa wRv faraw |

While determining the melting point of ice it was cbserved that even when ice cubes were being

moderately heated using the gas burner, the temperature did not rise for sometime till the whole ice
melted give the possible reason.

frafell g1 STEifa 9ol Y WRvEW T 97 F uw wan A e famnef 3 gt feufidl
ZEMA 4.0g a1 St A finivdt frwfiedl @1 7o 7.0g feré fifen1 ferwfisti g sremiifia st 31
i aRewfera wifee | frafae @ ga st 82

While doing an experiment to find out the percentage of water absorbed by raisins a student
recorded the mass of dry raisins as 4.0g and mass of raisins after soaking in water as 7.0g.
Calculate the percentage of water absorbed by raisins. Why do raisins get swelled up ?

-00o000o-
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